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A knot diagra

Ideals for irreducible component#ﬂ)f Xpar

I = (™ —u*? 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIM=(u®—u2+... —u—1)

(i) Arc colorings

" ()

1
ag = 0

1
ag = U2

u

a3 = \uyd+u

—u3
as = \yd+u

—ub —ut 41
a10 = \u® + 2u? + u?

w +2u" +ud —2ud —u
as = —u? —3u" —3ub +u

uB
a1 = \uP+ut+u
—ub —ut 41

a7 = \ —u8 — 2ub — 20

—u?0 — 5u'® — 11610 — 100 + 2u'? + 13u'® 4 9u® — 2u® — 5u? — w2 + 1
air =\ —u?? — 66?0 — 17u'® — 2605 — 200w + 13u!0 + 10u® + 3ub + 2u? + u?

u? +6ul + -+ 6ud +2uB
a1z =\ —u® -7+ = 3u® +u

wbl + 14u + - —ud — 20
ag = u52_u51+_“+2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’? — 4u°! + .- — 8u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ w3 4+ 31u”? + - +3u—1
C2,Cg B P =1
C3,C4,C -
N R L
Co
Cs,C6, C11 wB — P2 —3u—1
€10, C12 B 302+ —15u—3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ Yy — 1Ty 4+ 35y — 1
€2, 8 Y 4312 4 43y — 1
EELET Ty 65y o+ 899y — 25
Co
Cs5,Ce6, C11 y53—45y52+...+3y_1
€10 €12 Y2+ 232 -+ 39y — 9




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.128755 4 1.0192301

—4.90434 — 2.793761

—17.4626 + 3.57871

u = —0.128755 — 1.0192301

—4.90434 + 2.793761

—17.4626 — 3.57871

u = —0.911842 —15.0851 —15.7790
u= 0.452670 4+ 0.7858161 —0.74858 4+ 5.617331 —7.84958 — 7.793711
u= 0.452670 — 0.7858161 —0.74858 — 5.617331 —7.84958 4 7.793711

uw= 0.904077 4+ 0.0353481

—10.76820 — 8.158291

—12.92275 4 4.707541

uw= 0.904077 — 0.0353481

—10.76820 4 8.158291

—12.92275 — 4.707541

u = —0.894263 + 0.0304107

—5.73332 + 4.238181

—8.49578 — 3.551051

u = —0.894263 — 0.0304107

—5.73332 — 4.238181

—8.49578 + 3.551051

u = —0.435840 + 1.0185201

—3.18288 — 2.632771

—11.73208 4 4.345811

u = —0.435840 — 1.0185201

—3.18288 4 2.632771

—11.73208 — 4.345811

u= 0.270662 4 1.0807001

—1.60759 + 0.28866.1

—11.63603 + 0.607031

u= 0.270662 — 1.0807001

—1.60759 — 0.288661

—11.63603 — 0.607031

u = 0.885161 + 0.0125041

—7.93829 — 0.207321

—11.52979 — 0.977021

u= 0.885161 —0.0125041

—7.93829 + 0.207321

—11.52979 4 0.977021

u = —0.366265 + 1.058630.1

—3.39452 — 3.186521

—15.1026 + 5.99971

u = —0.366265 — 1.0586301

—3.39452 + 3.186521

—15.1026 — 5.99971

u = —0.438529 + 0.7364471

3.30946 — 1.894391

—2.29810 + 4.479951

u = —0.438529 — 0.7364471

3.30946 + 1.894397

—2.29810 — 4.479951

u= 0.459270 4 1.0568201

—0.23945 + 6.314157

—8.00000 — 7.972921

u= 0.459270 — 1.0568201

—0.23945 — 6.314151

—8.00000 + 7.972921

u = —0.271764 4+ 1.1271101

—6.33973 + 3.102231

—16.8942 — 2.03651

u=—0.271764 — 1.1271101

—6.33973 — 3.102231

—16.8942 + 2.03651

u = —0.471846 + 1.0758501

—4.85947 — 10.151107

—13.4245 4 9.42041

u = —0.471846 — 1.0758501

—4.85947 + 10.151101

—13.4245 — 9.42041

u=0.147653 + 0.7996031

—0.621747 4 0.9383401

—10.16569 — 6.802921

u= 0.147653 — 0.7996031

—0.621747 — 0.9383401

—10.16569 + 6.802921

u = 0.443085 4 0.6727431

—0.43986 — 1.772871

—6.55805 — 0.176591

u= 0.443085 — 0.6727431

—0.43986 + 1.772871

—6.55805 + 0.176591

u=0.386940 + 1.1303801

—9.24218 + 3.747261

—18.6066 + 0.1




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.386940 — 1.1303801

—9.24218 — 3.747261

—18.6066 + 0.1

u = —0.626369 + 0.2306841

—2.49578 4 5.923641

—10.03468 — 5.694001

u = —0.626369 — 0.2306841

—2.49578 — 5.923641

—10.03468 + 5.694001

u= 0.461426 + 1.2590801 —11.80210 4 4.572111 0
u= 0.461426 — 1.2590801 —11.80210 — 4.572111 0
u = 0.474991 4 1.2546601 —11.70120 + 5.057611 0
u=0.474991 — 1.2546601 —11.70120 — 5.057611 0
u = —0.452029 4 1.2662301 —9.69650 — 0.520131 0
u = —0.452029 — 1.2662301 —9.69650 + 0.520137 0
u = —0.485137 4 1.2560701 —9.45189 — 9.169981 0
u = —0.485137 — 1.2560701 —9.45189 + 9.169981 0
u= 0450332 + 1.2730701 —14.7839 — 3.37451 0
u = 0.450332 —1.2730701 —14.7839 4 3.37451 0
u = 0.489645 + 1.2598001 —14.4913 + 13.14151 0
u = 0.489645 — 1.2598001 —14.4913 — 13.14151 0
u= 0.647347 —6.05533 —14.6560

u = —0.472487 4 1.2713201 —18.9745 — 4.92151 0
u = —0.472487 — 1.2713201 —18.9745 4 4.92151 0

u= 0.573524 4 0.2507421

1.98282 — 2.245071

—4.39655 + 3.938321

u= 0.573524 — 0.2507421

1.98282 + 2.245071

—4.39655 — 3.938321

u = —0.505614 + 0.3262601

—1.29579 — 1.220091

—7.56412 + 0.503901

u = —0.505614 — 0.3262601

—1.29579 + 1.220091

—7.56412 — 0.503901

u = —0.436579

—0.780224

—12.8270




II. u-Polynomials

Crossings u-Polynomials at each crossing
5
€1 u’ 4+ 31U+ 3u— 1
.
C2,C8 uWP - —u—1
€3,C4,C
3,04, C7 U53+U52+"'+17’U,—5
€9
|40 =4
C5,Cg, C11 Ud3*U02+"’*3U71
€10, C12 u” + 3uP 4 — 15u — 3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ Yo — 17y + . + 35y — 1
€2, C8 Y 43177+ 3y — 1
C3,C4,C7 y53_65y52++899y_25
€9
Cs5,C6,C11 Y3 — 455t . 43y —1
€10, C12 y53 + 23y52 +---4+39y —9




